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QUESTION 1

An administrator needs to provide iSCSI storage to a VM on the nutanix cluster running ESXi. Which native nutanix
feature should be leveraged to meet this requirement?

A. Acropolis file service

B. Acropolis Block service
C. NFS whitelist

D. Storage Container

Correct Answer: C

QUESTION 2

Which three upgrades should an administrator be able to perform using Lifecycle Management? (Choose Three)
A. AOS

B. BMC

C. BIOS

D. Hypervisor

E. HBA Firmware

Correct Answer: BCE

Reference: https://portal.nutanix.com/page/documents/kbs/details? targetld=kA00e000000LMgICAW

QUESTION 3

Which two levels of encryption are supported in a Nutanix cluster running third-party hypervisor? (Choose two.)
A. Node

B. Cluster

C. Container

D.VM

Correct Answer: BC
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QUESTION 4
A system administrator needs to add more VMs to their Nutanix cluster.

Which two actions should the administrator perform to determine if the current cluster can accommodate the new VMs?
(Choose two)

A. Enable Deduplication and Ensure Coding

B. Utilize Optimize Resources for VM efficiency

C. Determine utilization with Cluster Runway

D. Perform an inventory with Life Cycle Management

Correct Answer: BC

QUESTION 5

Which algorithm do snapshots and clones leverage to maximize efficiency and effectiveness?
A. Continuous Data Protection

B. Copy-on-Write

C. Split-mirror

D. Redirect-On-Write

Correct Answer: D
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